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1. The word ‘beleaguered’ means
(A) Belittled
(B) Benefitted
._(C) Troubled
(D) Imitated

2. Find the approprniate synonym of the word
‘Indefatigable’.

LA) Tireless
(B) Indomitable
(C) Unhappy
(D) Incompatible

3. The detective suddenly __ a useful

clue. Fill in with the right phrasal verb.
(A) gavein
AB) came across
(C) fillup
(D) fell down

4. The tranquillity and sanctity of the place
soothed us. Replace the underlined word with a
suitable word.

(A) Secunty
AB) Holiness
(C) Equanimity
(D) Placidity

5. Correct the following sentence and choose
the right answer: We had gone to the movies last
night.

(A) We had had gone to the movies last
night.
{B) We went to the movies last might,

(C) We should have gone to the movies
last night.

(D) Wehave gonetothe movies last night.

6. Select the right answer: My watch is five
minutes

«(A) slow
(B) lately
(C) past
(D) late

R AL
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7. Fill in with suitable conjunction: He
advanced he could.

(A) until
(B) while
(C) asfaras
(D) as

8. Selectthe correct answer to fill in the blank:
I am sure | him before.

_(A) have met
(B) met
(C) had met

(D) will meet
9. Fillinwiththerightoption: I him
for a long time.
,(A) have known
(B) knew
(C) had known
(D) should have known

10. Which is the correct form of the given
sentence: They discussed about the matter.

(A) They had discussed about the matter.

(B) They should have discussed about the
matter.

~(C) They discussed the matter.
(D) The given sentence is correct.

11. Change the voice of the verb and select the
correct answer: ‘The script is being written.’

(A) The script will have to be written.
(B) Write the script.

AC) They are writing the script.
(D) They have been writing the script.

12. The idiomatic expression ‘see eye to eye’
means
(A) agree with someone.
(B) to remain neutral.
(C) to take over (something).
(D) to enjoy the best of both.

13. Ornithology is the study of
(A) Fish
(B) Coins
(C) Relics
- (D) Birds
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14. Ram madethe most his resources.

Choose the correct preposition.
(A) at

AB) of
(C) from
(D) with

15. The word necrophilia means
(A) Love for insects
(B) Love for children
(C) Cultivation of knowledge
£D) Fascination with dead bodies

16. Convert the given sentence into an
interrogative sentence: I will meet you at the train

station.
(A) When will you meet me?

(B) How will you meet me?
A€) Where will you meet me?
(D) Can't you meet me?

17. She wanted to go on vacation, so she saved
money. Convert this to a simple sentence.

(A) As she wanted to go on vacation she
saved money.

£B) She saved money for vacation.

(C) She wanted to go on vacation and

| saved her money.

(D) Although she saved her money, she
wanted to go on vacation.

18. Convert the given sentence into a simple

sentence:
Pancakes are delicious but not without syrup.

(A) Pancakes are delicious when served
with syrup.

(B‘)l Pancakes are delicious only with

Syrup.
(C) If served with syrup, pancakes are

delicious.
(D) None of the above

19. Addasuitable prefix to formthe opposite of
the word ‘Balance’.
(A) Nonbalance
(B) Unbalance
(C) Disbalance
) Imbalance
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20. Fill in with the appropriate word:
Thejury_____ dividedin their opinion.
(A) were
,GBT was
(C) have been
(D) have

21. Fill in the blank with the suitable option:

Let's meet next week.

(A) sometimes
(BY sometime

(C) some time
(D) some times

22. Choose the right option to rewrite the

sentence:
No sooner

fog disappeared.
(A) did
(B) has
(©) had
(D) was

___the sun risen than the

23. He says he has invented a time machine,
which is clearly a load of cobblers.

(A) Genuine
(B) Great
,(C), Nonsense
(D) Significant

24. He entered the hall in the part of

the show. Which is the right answer?
AA) Latter
(B) Later
(C) Late
(D) Lately

25. He preferred classical music____ S
popular numbers. Choose the correct preposition.

(A) from
(B) of
(C) over
,(6) to
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26. East Kolkata wetlands have been declared as
(A) Biodiversity site
(B) Tourist stte
(C) World Heritage site
9)) Ramsar site

27. Bhur of Upper Ganga Plain of India 1s
fﬁ) Undulating, aeolian sandy deposit
(B) Older alluvium
(C) Newer alluvium
(D) Muddy areas

28. West Bengal Land Reform Act came into
force in

(A) 1956
(B), 1958
4C) 1955
(D) 1959

29. Head Quarter of Central Inland Water
Transport Corporation of India is located in

(A) Allahabad
AB) Kolkata
(C) Cochin
(D) Mumbai

30. Metro rail was started in Kolkata in
f(A) 1984
(B) 1986
(C) 1988
(D) 1989

C-4

31. About 80% of the coal reserves of India lie
in the

_(A) Damodar valley
(B) Son valley
(C) Mahanadi valley
(D) Godavari valley

32. The full-fledged state of Telengana came
into existence on

(A) IstJune, 2013 °
/(B) I1st June, 2014

(C) IstJune, 2015

(D) 1stJune, 2016

33. Dhanekhali is famous for
—~(A) Tant industry
(B) Paper industry
(C) Jute industry
(D) Leather industry

34. Western part of Tista river is known as
AA/As) Terai
(B) Duars
(C) Tal
(D) Diara

35. Sundarban is declared as ‘World Heritage
Site’ for
(A) Tiger reserve
(B) Sundari tree
(C) Mangrove forest
. /(D) Biodiversity

AN
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36. Jalpaiguri town is located in the bank of
{A) Tista and Karala river
(B) Tista and Jaldhaka river
(C) Jaldhaka and Raidhak river
(D) Tista and Raidhak nver

37. Rammam hydroelectric poweris located in
(A) Purulia
(B) Bankura
(C) Jalpaigun
}D) Darjeeling

38. Which of the following pairs is incorrectly
matched?
(A) Bhitarkanika: Olive ndley turtles

(B) Dalma Hills: Wild elephants
(C) Kaziranga: One-horned rhinos
,(D) Dachigam: Asiatic lions

39. Firstrailway line was started in West Bengal

between
é Howrah to Hooghly
(B) Howrah to Ranigunge
(C) Howrah to Burdwan
(D) Sealdah to Naihati

40. The tropic of Cancer does not pass through
(A) Mizoram
(B) Tnpura
AC) Orissa
(D) Madhya Pradesh

C-6

41. The Shola forest found in
(A) The Himalayas
AB) The Western Ghats
(C) The Vindhyan
(D) The Eastern Ghats

42. Kolleru lake is located between
(A) Godavan and Cauvery
AB) Godavari and Krishna
(C) Krishna and Cauvery
(D) Mahanadi and Godavan

43. What is Demographic Dividend?
(A) Increase in 0-5 year age group of
population

(B) Increase in 6-15 year age group of
population

’(Q)/ Increase in 16-64 year age group of
population

(D) Increase in over 65 year age group of
population

44. Which of the following district was not in
West Bengal at the time of Independence of India?

~(A) Coochbehar
(B) Howrah
(C) Darjeeling
(D) Murshidabad

45. Literacy rate of West Bengal is
(A) 82:67%
(B) /14-04%
SL€) 77-08%
(D) 71-16%
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346. Mention the name of the state which has
larger boundary with West Bengal among the
following states of India.

,(A‘j' Jharkhand
(B) Bihar
(C) Orissa
(D) Assam

47. Laskshadeep is a island of
_AA) Coral island
(B) Volcanic island
(C) Tectonic island
(D) Alluvial island

48. In India, which type of forest among the
following occupies the largest area?

(A) Tropical Wet evergreen
_AB) Tropical Moist deciduous
(C) Montane Wet temperate
(D) Tropical Dry deciduous

49. Manasorovar lake lies in
(A) Karakoram Range
(B) Pirpanjal Range
(C) Kailas Range
(D) Mahabharata Range

50. Shilong is situated in
(A) The Naga Hills

(B) The Garo Hills
/(C) The Khasi Hills
(D) The Mikir Hills

C-8

51. *At the stroke of midnight, when the world
sleeps, India will awake to life and freedom.” was

said by
(A) Lord Mountbatten
(B) Dr. Rajendra Prasad
,('C')/ Jawaharlal Nehru
(D) None of them

52. The Indian National Congress represented
the views of the microscopic minonty in India.
The contention was maintained by

(A) Lord Curzon
(B) Lord Elgin

(C) Lord Lansdowne
(D) Lord Duffernn

53. Who conceived the idea of Pakistan?
(A) Asaf Ali
(B) Mohammed Ali Jinnah
(C) H.S. Suhrawardy
(D) Choudhury Rahmat Ali

54. Who commented that Cripps Mission was
a post-dated cheque on a crashing bank?

(A) Sardar Vallavbhai Patel
By Mahatma Gandhi

(C) Subhas Chandra Bose
(D) Jawaharlal Nehru

55. Jallianwallah Bagh massacre occured 1n
AX) Amritsar
(B) Delh
(C) Jallandhar
(D) Lahore

P E S HA
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56. Who among the following annulled the
Partition of Bengal?

AAX) Lord Hardinge
(B) Lord Minto
(C) Lord Curzon
(D) Lord Chelmsford

57. Between whom Camatic Wars were fought?

{Ay~French East India Co. and English
East India Co.

(B) French East India Co. and Dutch East
India Co.

(C) Dutch East India Co. and the
Portuguese

(D) English East India Co. and the Dutch
(OLONDAZ)

58. The first mass movement started by
Mahatma Gandhi was

4%J Non cooperation movement
(B) Quit India movement

(C) Indigo movement

(D) Salt movement

59. SuryaSen was associated with which of the
~event during the Indian freedom struggle?

AAJ Chittagong Armoury Raid

(B) Kakon conspiracy

(C) Civil Disobedience movement
(D) Home Rule movement

60. Who among the following, led the sepoys
at Kanpur in the 1857 uprising?

(A) Tantia Tope
(B) Rani Lakshmibai
o
+C) Nana Sahib
(D) Kunwar Singh

C-10

61. The Asiatic Society of Bengal was founded
by
(A) C.F. Andrews
(B) Raja Rammohan Roy
AC)Y"Sir William Jones
(D) William Marshal

62. The boundary between India and Pakistan
was demarcated by

(A) Lord Mountbatten
_B)-Sir Cyril Radcliffe

(C) Sir Stafford Cnipps

(D) Sir Pethick Lawrence

63. The main leaders of the Swara) Party were
" (A) Vitthalbai J. Patel and Dr. Ansar
(B) M. N. Roy and Muzaffar Ahmed

_{C)-Motilal Nehru and C. R. Das
(D) B. R. Ambedkar and P. C. Joshi

64. Who amongst the following was the first
woman President of the Indian National Congress?

,(A’)/Annic Besant
(B) Mira Behn
(C) Sarojini Naidu
‘ (D) Sarala Debi Choudhurani

65. The Indian National Congress was founded
by

~(A) A.O. Hume

(B) Bal Gangadhar Tilak
(C) Motilal Nehru

(D) Surendra Nath Banerjee
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66. The Battle of Buxar was fought in
(A) 1762
ABY1764
(C) 1768
(D) 1772

67. With whose permission did the English set
up their first factory in Surat?

(A) Akbar
LBy Jahangir
(C) Shahjehan
(D) Aurangzeb

68. When did Vasco-da-Gama come to India?
AAT 1498 AD.
(B) 1409 A.D.
(C) 1496 A.D.
(D) 1492 A.D.

69. Who built the Ibadatkhana at Fatehpur
Sikri?
(A) Shahjehan
(B) Aurangzeb

,(Eﬁkbar

(D) Jahangir

70. Malik Kafur was general of
(A) Firuz Shah Tughlag
(B) Chandragupta Maurya
(C) Bimbisara

(DY Alauddin Khilji

71. Where did Gautama Buddha attain Nirvana
(enlightenment)?
(A) Lumbini
(B) Sarnath
ey Kusinagar
(D) Bodh Gaya

72. Who wrote Mrichhakatikam?
(A) Vishakhadatta
4B) Shudrak
(C) Banabhatta
(D) Bhas

73. Who among the following succeeded
Samudragupta as the next ruler of the Gupta

dynasty?
_LA) Chandragupta 1]
(B) Vishnugupta
(C) Chandragupta I
(D) Skandagupta

74. The inscriptions of Ashoka and the Brahmi
scripts were deciphered by
(A) Alexander Cunningham
ABY James Princep
(C) Max Muller
(D) Mortimer Wheeler

75. Which among the following places have
given the earliest evidence of agriculture in Indian

sub-continent?
(A) Pratapgarh
—~(B) Mehrgarh
(C) Quetta
(D) Kalat
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76. Select the lettered pair that has some 80. How many triangles are there in the

relationship as the original pair of words printed in following ﬁgur@?

the bold:
Poverty : Prosperity i B

(A) Love : Sorrow (A) 6
(B) Train : Cart (B) 10
(C) Rain : Flood (C) 11
_(D) Intelligence : Stupidity /(D)’[’z

77. In a certain code, BREAKTHROUGH is

written as EAOU'HRBRGHKT. How 1is
DISTRIBUTION written in that code? Choose the best alternative as the answer

(A) TISTBUONDIRI (Q. No.-81 and 82):
(B) STTIBUONRIDI 81. A camera always has
ACY STTIBUDIONRI ,((é:)’gen;s
€CIS
(D) RISTTIBUDION

(C) Flash
78. Observe the dots on a dice (one to six dots) (D) Stand
in the following figures. How many dots are
contained on the face opposite to that containing
four dots?
L A './ — 82. A river always has
. ’ ’ (A) Delta
' [® o0 (B) Tributaries
XY 2 (C) Boats
(B) 3 _(D)-Banks
(C) 6

(D) Cannot be determined

79. Count the number of squares:

38
] 37
1 [ l &
(A) 8
(B) 12
Ley15

(D) 18
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Poverty : Prosperity | A
(A) Love : Sorrow | N—

(B) Train : Cart | (A) 6
(C) Rain : Flood (B) 10
(D) Intelligence : Stupidity (C) 11
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77. @30 W8 Awwwe Anfer®
BREAKTHROUGH (& (& L]

EAOUHRBRGHKT, G2 AFe 9@l @
=y Ra® Adea @ e T (o 92 81

DISTRIBUTION & < (5141 A ?
G3R 82) |
(A} TISIBUONGIR] 8§1. O3® camera-q F{W! AT
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D
78. fAsfiRe =@ @ 1 (1 /@ 6 79) (D) Stand
e ot | (@ oz 4 b R sz o Reidie
e 9l 177 =
P A 82. 3o AIA FMI AT
) . | (A) Delta
D . oo (B) Tributaries
(C) Boats
(A) 2 (D) Banks
(B) 3
(C) 6

(D) Cannot be determined
79. frsa foca Toofa 3+ zmeg [
]

: D 39 (67 (16
37 42
&) O
(A) 8
(B) 12
(C) 15

(D) 18
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84. A man has a certain number of small boxes
to pack into parcels. If he packs 3,4,50or61ina
parcel, he is left with one; if he packs 7 in a parcel,
none is left over. What is the number of boxes he
may have to pack?

(A) 106
B30I
(C) 309
(D) 400

85. Arrange the following items from general
to particular:
(1) Animal
(11) Feline
(111) Leopard
(1v) Mammal
(v) Veriebrate
(vi) Cat

(A) (i), (i1), (ii1), (iv), (Vv), (vi)
(B) (i), (1i1), (v), (1v), (11), (v1)
(C) (1), (iv), (ii1), (i1), (v), (Vi)
APY(1), (v), (1v), (11), (i), (V1)

86. Arrange the following in a meaningful
sequence:

(i) Consultation
(11) lllness

(111) Doctor

(1v) Treatment
(v) Recovery

LT, (i), (), (iv), (V)
(B) (i), (i), (iv), (0), (V)
(C) (iv), (iii), i), (i), (v)
(D) (v), (i), (iv), (iii). (ii)

87. Which of the following interchanges of
numbers would make the given equation correct?
8x20+3+9-5=38
(A) 3,8

Bt
AE) 3,5

(D) 3,9

C-16

88. IfA>B,B>CandC>D, then whichofthe
following conclusions is definitely wrong?

(A) A>D
(B) A>C
D> A
(D) B>D

89. If ‘<’ means ‘minus’, ‘>’ means ‘plus’, ‘=’
means ‘multiplied by’ and ‘$’ means ‘divided by’,
then what would be the value of 27 > 81 $9 <67

(A) 6

(B) 33
4130

(D) 54

90. How many 3s are there in the following
sequence which are neither preceded by 6 nor
immediately followed by 9?

9366395937891639639

91. Inthe following series, how many such odd
numbers are there which are divisible by 3 or S,
then followed by odd numbers, and then also
followed by even numbers?

12, 19, 21, 3, 25, 18, 35, 20, 22, 21, 45,
46, 47, 48, 9, 50, 52, 54, 55, 56

(A) Zero

(B) One

«(CT Two

(D) Three
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84. U Jfea Iz g @H A e @S
(IeATERA 3A0e A | fefq af 3, 4, 5 3 6 IR
(TS T TIFTE R Iz 1 b I AUews; I fol
70 TR T I, S g SRR AU A
T AW FTFE T CITS T T2

(A) 106
(B) 301
(C) 309
(D) 400

85. faxffe Reneff vz A e
HAEnS $
(1) Animal
(11) Feline
(111) Leopard
(iv) Mammal
(v) Vertebrate
(vi) Cat

(A) (1), (1), (111), (1v), (v), (Vi)
(B) (1), (ii1), (v), (iv), (i1), (v1)
(C) (1), (1v), (111), (11), (v), (V1)
(D) (1), (v), (iv), (i), (i11), (v1)

86. frfafie weefice @l e Hfiwam
ATSNE 8
(1) Consultation
(ii)) Illness
(in) Doctor
(1v) Treatment
(v) Recovery

(A) (1), (1), (1), (iv), (V)
(B) (ii), (ii1), (iv), (1), (V)
(C) (iv), (i), (i), (i1), (V)
(D) (v), (1), (iv), (111), (11)

87. [AufTRe @M AneE o7 7= R
A (78 A0 AT A2
8§x20+3+9-5=38
(A) 3,8
(B) 8,9
(C) 3,5
(D) 3,9

C-17
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88. I A>B,B>C 93 C>DF, TA &I
Prarel FoTeira go e
(A) A>D
(B) A>C
(C) D>A
(D) B>D

89. I ‘<’ o= R’ =y, > b= ‘@er’
7Y, ‘=" o7 I ‘aldes’ g7, 1) $ I ferey 73,
I 27 > 81 $9 < 6 93 A TS 2

(A) 6

(B) 33
(C) 30
(D) 54

90, A=ERe *[fmerm ool 3 =g @elm
ofid 6 SRS 74, GF 0T 2738 7 9 T
STAITS T2

9366395937891639639
(A) Onc

(B) Two

(C) Three

(D) Four

91. fxfaie Sqwm soufE faw A =z
@zl 3 15 2191 [Tere @R SR fEs A et
TFAAIFTS GR TR AR A HTHAITFS |

12, 19, 21, 3, 25, 18, 35, 20, 22, 21, 45,
46, 47, 48, 9, 50, 52, 54, 55, 56

(A) Zero

(B) One

(C) Two

(D) Three
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92. 5=pBF2*KS75#$PLVS@MUE
6TQGO©93&TYE

How many such letters are there in the

arrangement each of which is either immediately
preceded by a symbol orimmediately followed by
a number, but not both?

(A) Three
(B) Four
(C) Five

(PrEight

93. How many meaningful words can be made
by changing only the consonants in the word
MEAN so that each of the consonants is replaced
by the previous letter in the English alphabet, by
using each letter only once in each word?

(A) One
(B) Two

LEY Three
(D) Four

94. If the first and third letters in the word

NECESSARY were interchanged, also the fourth
and the sixth letters, and the seventh and the nineth
letters, which of the following would be the seventh

letter from the left?
(A) A

ABYY
(C) R
(D) E

95. Arrange the following words according to
dictionary arrangement:

(1) Epitaxy
(i1) Episode
(111) Epigene
(1iv) Epitome
(v) Epilogue

(A) (i), (i), (iii), (iv), (v)
(B) (i), (ii), (v), (iv), (i)
ACY i), (v), (i), (i), (iv)
(D) (v), (iv), (i), (i), (iii)

C-18

96. A result of a survey of 1000 persons with
respect totheirknowledge of Hindi(H), English(E)
and Sansknit(S) is given below:

E H

A
)

What is the ratio of those who know all the
three languages to those who do not know Sanskrit?

(A) 5

l
(B) 10

10
(C) 17

5
1)

97. The sum of the incomes of A and B is more

than that of C and D taken together. The sumof the
incomes of A and C is the same as thatof Band D

taken together. Moreover, A earns half as much as
the sum of the incomes of B and D.

Whose income is the highest?
(A) A |
—(BY'B
C) C
(D) D

98. If ROME is written as MORE, then DARE
1S written as

(A) RDAE
_{B)"RDEA

(C) RAED

D) "RADE
- 7

99. Choose the odd one:
(A) BdEg
(B) KmNp
(C) PrSu
f(D)"‘I'sz
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92, 5=BF2*KS75#$PLVS@MUE 96. 1000 F5fFa Hindi(H), English(E) @3z
6TQGO©I3&TYL Sanskrit(S )93 Bo1a QI 936 ATSA e faivd ¢
93 o] FeosfE wree wig @ei drereivg
e o o3l o witg w3 @36 A 3! E H
SPIRFS % ToU2 A 79 7

(A) Three | @
(B) Four é
(C) Five v
(D) Eight i
& S
93, MEAN *%{69 (FIeT1@ consonant & | 73 310 R e wiie ave e ALdn a3

AR 0 FOuf T N ML RAEE | gt et (7R 7 YR TR A TS 2
consonant &fE@ ArorE® ZW FIEA I TR

English I 63 s/l ©rFg @t @) Ao (A) é
g 2fSl *(3 (e  FNE2 IJIZO A ? 1
(A) One ) 1o
(B) Two (C) %
(C) Three - s
(D) Four (D) 57

94. NECESSARY *itza Asfize sreaaf an
e st 2 Afaasa 3 @ 2 (@9 - 496
TOId TFY AT AR T, 5o 9R TP THARY

97. A 932 B-99 AT (@IS C 93 D499 (@19
SIET (AF QM 1 A G2 C~a9T I @I51TE B @R
D-93 I @SS Ed AN | HEdE A-499 Y

AT TP I, A SR A SFTA LT | p g D9 SR (19T O |
B, OIFE AW (AT AL A @I P - ;
e ? IR A ANGS 2
s (A) A
g (B) B
©) R (C) C
D) R (D) D
95. FrsfiRe =wef SfoaEa fs SPIG 98. T ROME il T MORE, Szl DARE
HE1as 9l S
(1) Epitaxy (A) RDAE
(i) Episode (B) RDEA
(iii) Epigene (C) RAED
(iv) Epitome | (D) RADE
(A) (1), (), (1), (iv), (V) (A) BdEg
(B) (iii), (ii), (v), (iv), (i) (B) KmNp
(C) (1), (v), (1), (1), (iv) (C) PrSu

(D) (v), (iv), (i1), (1), (1i1) (D) TwXz
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100. Igloos : Canada : : Rondavels : ?

-(‘ﬁﬂfricu

(B) Rangoon
(C) Russia
(D) Indonesia.

101. Rightto vote and to be elected in Indiais a
(A) Fundamental Right
(B) Natural Right

.{Cﬁ?onstilulional Right
(D) Legal Right

102. In the Constitution of India, promotion of
international peace and security is included in the

(A) Preamble to the Constitution.

_(B) Directive Principles of State Policy.
(C) Fundamental Duties.
(D) Ninth Schedule.

103. What will follow if a Monetary Bill 1s
substantially amended by the Rajya Sabha?

,(ﬁ)*'The Lok Sabha may still proceed with
the Bill, accepting or not accepting

the recommendations of the Rajya
Sabha.

(B) The Lok Sabha cannot consider the
Bill further.

(C) The Lok Sabha may send the Bill to
the Rajya Sabha for reconsideration.

(D) The President may call a joint sitting
for passing the Bill.

104. The 1deal of ‘Welfare State’ in the Indian
Constitution in enshrined in its

(A)_Preamble.
) Directive Principles of State Policy.

(C) Fundamental Rights.
(D) Seventh Schedule.

f

C-20

105. Thefundamental object of ‘Panchayati Raj’
system is to ensure which among the following?

J(A)-People’s participationin development
(B) Political accountability
’(C)*Democralic decentralisation
(D) Financial mobilisation

106. The powertoincrease the number of judges
in the Supreme Court of India is vested in

(A) The President of India
_,(B)" The Parliament

(C) The Chief Justice of India

(D) The Law Commission

107. With reference to Hausla 2018, consider
the following statements:

1. It is an initiative of Ministry of Minority
Affairs.

2. It provides a platform to children living in
Child Care Institutions (CCIs) to showcase
their skills.

Which of the statements given above is/are correct?
(A) 1only
/(Bﬁonly
(C) Both 1 and 2
(D) Neither 1 nor 2

108. Inthelatest ‘Ease of Doing Business Report

2019' released by the World Bank, India has
secured

(A) 67th rank
__(B)~77th rank

(C) 87th rank

(D) 100th rank

109. PCA stands for
(A) Public Current Account
(B) Principles of Corporate Accounting
,{C)-Prompt Corrective Action

(D) Public Channel Agency




100. Igloos : Canada : : Rondavels : 32
(A) Afrnica
(B) Rangoon
(C) Russia
(D) Indonesia

101. =l coivifyar ¢ i zeaa wigze
GESiT
(A) Qe Hiaerd
(B) Freoiika HigzIa
(C) efufas Tl
(D) T34 I i T

102. ©rEe Ffum wrgsEiies «ifw ¢ FRTer
TATH TEEE T —
(A) Preamble to the Constitution-4
(B) Directive Principles of State Policy-(¥
(C) Fundamental Duties-9
(D) Ninth Schedule—9

103. M 9B Monetary Bill IEFHSE AT
AR TN T, TR IS 419 N A7
(A) (IRl ATTTeR Ao 929 I A
1 (3 AFIE AT A
(B) @ReTe! an faesam o & =
SIZel FACE 2 )
(C) @<l G 35 77318 TP (TS
ATSTCS AT 7ARCIGAI T |

(D) AReAE W0 @Y MG IAL T
FACS A &0« T4 T |

104. ‘Welfare State’~a¥ o1 ©relm fQUS
ALY TF S T (T ?

(A) STRTT
(B) ASIAIER TP AR

C-21
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105. ‘Panchayati Raj’ 3334 (s Ty Z&
frsfERe @i Fve w12
(A) TIRETS TR Tazel
(B) AGATET WITIATC]
(C) “rreifgs farzfuead
(D) =< @rew

106. @mﬁqﬁm@ﬁﬁmawmw
@3eTaa fafze wr —

(A) ©1RTeS ARl

(B) AR

(C) S1Area gy [orafs
(D) WiEH Fhme

107. Hausla 2018 & fasfaive fgfesk
feoma 3T —
1. It is an initiative of Ministry of Minorty
Affairs.

2. It provides a platform to children living in
Child Care Institutions (CClIs) to showcase
their skills.

a2 fagfestm g @mb/@meR Alie?
(A) @=Ta19 |
(B) (331G 2
(C) 19332 T}
(D) 1312 (FI10E 7

108. s A=fS i 1% =#31$ “‘Ease of Doing
Business Report 2019’ ST ©RTER 2

(A) 67
(B) 77 <
(C) 87 <«
(D) 100 <

109. PCA *RTS50 3 =% QR 2
(A) Public Current Account
(B) Principles of Corporate Accounting
(C) Prompt Corrective Action
(D) Public Channel Agency

Please Turn Over



AC/19 C-22

110. Consider the following statements about
Regional Comprehensive Economic Programme
(RCEP).

1. Itis aneconomic cooperation for the China
led free trade.

2. Itis a counter cooperation for the America
led trans-Pacific partnership.

3. Inthecountriesinvolvedinthiscooperation
Indian Professionals will have job market.

Select the correct answer using the codes given
below:

(A) 1and?2
(B) 1and 3
(C) 2and 3
(D)-All of the above

111. Mark the correct date and year in which the
Indian Constitution came into being

(A) 15th August, 1947
(B) 24th July, 1948
(C) 20th January, 1951

9/26”] January, 1950

112. According to the Constitution of India it is
the duty of the President to present which of the
following on the desk of the Parliament —

1. Recommendations of Union Finance
Commission.

. Report of the Public Accounts Committee.

. Report of the Comptroller and Auditor-
General.

W N

4. Report of the National Scheduled Caste

Commission.
Whichof the statements given above is/are correct?
(A) 1 only
(B) 2and 4

.(G')/'l. 3 and 4
(D) 1,2,3and 4

113. Which of the following organisation
released Agricultural Marketing and Farm Friendly
Reforms Index?

,(ﬁ), NITI Aayog
(B) Ministry of Agriculture

(C) Commission for Agricultural Costs
and Prices (CACP)

(D) None of the above

114. Who was one of the advocates of ‘United
Sovereign Bengal’?

’(A}- H.S. Surhawardi
(B) Shyamaprasad Mukherjee
(C) Maulana Abdul Kalam Azad
(D) None of them

115. Which Article of the Constitution of India
guarantees to all citizens the freedom of speech
and expression? |

(A) Article 16
(B) Article 17
(C) Article 18
DY Article 19

116. What s ECF?
AAY Economic Capital Framework
(B) Equity Cash Flow
(C) Entity Concept Fund
(D) None of the above

117. Which Schedule of the Constitutionof India

distributes power between the Union and the
States?

(A) First Schedule
(B) Second Schedule
(C) Sixth Schedule
\(memh Schedule




110. Regional Comprehensive Economic

Programme (RCEP) 57=7i{&s fagfeufe favra wan|

1. Itis aneconomic cooperation for the China
led free trade.

2. Itis a counter cooperation for the America
led trans-Pacific partnership.

3. Inthecountriesinvolvedinthis cooperation
Indian Professionals will have job market.

ffERe code I I AlGE TE AT AT
(A) (FRET 1 9% 2
(B) (@31 1 €38 3
(C) ([T 2 932 3
(D) Torza afE

111. 33z ©ifdd W32 727 HiTS T4, T (W
eIer FHfum e 31 I LAl ¢
(A) 15th August, 1947
(B) 24th July, 1948
(C) 20th January, 1951
(D) 26th January, 1950

112. ©RTsa R0 SgEdl apsifea 67 =
AR (OF (ET=Terd (BfAts) Coglod 34
faEReel —

1. Recommendations of Union Finance

Commission (& fFam asfmEs
Aofraf)
2. Public Accounts Committee ~99 Report

3. Comptroller and Auditor-General -9¥
Report

4. National Scheduled Caste Commission -
«q Report |

Which of the statements givenabove is/are correct?

(A) (FIIF 1
(B) 249R4
) 1,394
(D) 1,2,349R4

C-23 AC/I9

113. FefERs gy a1 MRemeler g @b
2131f*1® ITI— *Agricultural Marketing and Farm
Friendly Reforms Index’?

(A) NITI Aayog

(B) Ministry of Agriculture

(C) Commission for Agricultural Costs
and Prices (CACP)

(D) IFLE AT

114. ‘United Sovereign Bengal’-93 advocate-
0 T G3G foe
(A) H.S. Surhawardi
(B) Shyamaprasad Mukherjee
(C) Maulana Abdul Kalam Azad

(D) BT (FO3 A

115. 7= RTEI I 416 TS AFII FETe!
ST MR (@ Article-a (469 w1 g ?
(A) Article 16
(B) Article 17
(C) Article 18
(D) Article 19

116. ECF 3¢
(A) Economic Capital Framework
(B) Equity Cash Flow
(C) Entity Concept Fund

(D) TART @FRGE 7

(A) First Schedule
(B) Second Schedule
(C) Sixth Schedule
(D) Seventh Schedule

Please Turn QOver
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118. The cighty-sixth Amendment of the
Constitution of India altered a Directive Principle
of the Constitution to provide for

( arly childhood care and education
for all children until they complete
the age of six vears.

(B) the state to provide free legal aid.
(C) encouraging village panchayats.

(D) prohibiting intoxicating drinks and
drugs njurious to health.

119. District Judge in a state are appointed by
the

f(A-)"Govemor
(B) Chief Justice of High court
(C) Council of Ministers of the state
(D) Advocate General of the state

120. The Impeachment of the President of India
can be initiated 1n

(A) either House of the Parliament.

(B) a joint sitting of both the Houses of
the Parliament.

(C) the Lok Sabha alone.
(D) the Rajva Sabha alone.

121. Consider the following statements:
The Parliamentary Committee on Public Accounts

1. consist of not more than 25 members of the
[Lok Sabha.

. examine public expenditure not only from
legal and formal point of view to discover
technical irregularities but also from the
point of view of economy, prudence,
wisdom and propriety.

3. examine the report of the Comptroller and

Auditor General of India.

Which of the statements given above is/are correct?
(A) 1 only

;LB')/2 and 3 only

(C) 3 only
(D) 1,2and3

2

122. Power to grant pardons are cnjoyved by
which of the following constitutional authorities?

(A) President
(BY” President and Governor of a State

(C) Govemor

(D) Chief Justice of Supreme Court of
India

123. Article 280 of the Indian Constitution lays
down the establishment of the

(A). Planning Commission
(B) Inter-State Council
(C) River Waters Tribunal

_(D) Finance Commission

124. The Panchavati Raj System of India has
(A) One tier
(B) Two ticrs
..(C) Three tiers
(D) Four ticrs

125. Which of the following Amendments of
the Indian Constitution is related to reservation of
SC’sand ST's and representation of Anglo Indians
in the Lok Sabha and State Assembly?

(A) 54th Amendment
(B) 63rd Amendment
(C) 111th Amendment

(D) -79th Amendment

126. Anarcofliength 121 cm makes an angle 77°
at the centre of a circle. The radius of the circle is

(A) 110 cm

(B) 100 cm
_,(E)"'ﬁ('j cm

(D) 70 cm
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118 ©Igeiy JRUIE 86 712 AT Directive
Principle-q +if3a¢q 371 Tt (FIHHI &+ ?

(A) early childhood care and education
for all children until they complete
the age of six years.

(B) the state to provide free legal aid.

(C) encouraging village panchayats.

(D) prohibiting intoxicating drinks and
drugs injurious to health.

119. & ACET District Judge e =
(A) Governor 2id]
(B) High Court-93 gyl fa51aa wrat
(C) A=A IS o] faferdrasy wra
(D) &9 Advocate General 2191

120. ©IFTeR APAfEA oo Sfe@e w1 I
(A) AT T ITFT @RS |
(B) SARro7 o ICFA (1Y WHRHE |
(C) ERHAS IITFTSIA |
(D) SIS GITSIA |

121, fastaie Ryfeef e o

Public Accounts~93 &g Parliamentary Committee
1. GO 25 T FP-93 K Al *ifde =1
| -
2. @IE Sz e Ry fAferd public
expenditure #14I%1 ITI A (I3 technical
S Wi B weR T, Sewg adAte,
TR, WA 932 AL (11T 18 AT
JI

3. ©ISY Comptroller 9} Auditor General-
93 el A= ey |

Tofasimiie @ Ter 3 Torefa Al
(A) (=T |
(B) 249333
(C) (=T 3
(D) 1,293

C-25
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122, fufeive @ wRufe it =
AT HAS! SR ?

(A) Fgefen

(B) AGsifeq @I @ NI ATACER
(C) SR

(D) SIS e b 3t A= e

123, Sl NRum @it 280-cs fAxfafs
I ZE 37 T TACR?
(A) sfaewa ==
(B) S®:AIE) e
(C) A ToTAIE GG
(D) &Y =

124. S0 ALRTS 21 IR ST
(A) 9T
(B) fawa
(C) feazg
(D) 5I3TI

125. STl MRYE FACNESETT T =
PN EIETS! W32 3re) RyEFTS SC YR ST-F
Tel] T S Q3 SIS ST IIM Sfef+iy

FEIRSTSE G2 A R AR A TifFe ¢
(A) 54T FALNGA
(B) 63T« FCNLA
(C) 1119 AN

(D) 79T AL

126. 121 cm AR @b Eo19, L8 FH 77°
@19 BeoE I | J0ER I
(A) 110cm
(B) 100 cm
(C) 90 cm
(D) 70 cm
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127. The arithmetic mean of the numbers 9, 12,
15, 18,20, 221sincreased by 1, if 15 isreplaced by

(A) 16
(B) 17
() 19

(DY 21

128. The number of spinal nerves in human
body are

(A) 12 pairs
ABY 31 pairs
(C) 31
(D) 12

129. Abombisdroppedatapointfromamoving
aeroplane. The pilot observes that

(A) the bomb traverses a curved path and
falls some distance behind that point.

(By“he bomb traverses a curved path and
falls some distance ahead.

(C) the bomb drops vertically downward.

(D) the bomb remains stationary in the air
for some time.

130. Which of the following is used in beauty
parlours for hair setting?

(A) Chlornne
,(»B‘)/éulphur
(C) Phosphorus
(D) Silicon

131. Which of the following fertilizers has more
nitrogen content?

fmjrea

(B) Ammonium Nitrate
(C) Potassium Nitrate

(D) Ammonium Phosphate

132. Good absorbers of heat are
(A) poor emitters
(B) non-emitters

.(»e)’—ggod emitters

(D) highly polished

133. Ventilators are provided at the top of the
room

(A) to bring oxygen for breathing.
(B) so that sunlight may enter the room.

(&) To maintain convectional currents to
keep the air fresh in the room.

(D) to provide an outlet for carbon
dioxide.

134. Voice of your friend can be recognized by
its
(A) pitch
AB)y~quality
(C) intensity
(D) velocity

135. Light year is
(A) light emitted by sun in one year.

(B) time taken by light to travel from Sun
to Earth.

(C)-The distance travelled by light in free
space in one year.

(D) time taken by earth to go once around
the Sun.

136. Twinkling of stars is on account of

(A) large distance of stars and storms in
air.

(B) rotation of earth.
(C) large size of stars.

D) large distance of stars and fluctuations
in the density of air.

P ESHA
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127. 9,12,15,18,206 22 -93 51T 1 I i3 3
15-93 E e W

(A) 16
(B) 17
(C) 19
(D) 21

128. TR A ! TYI A &
(A) 12 @rel

(B) 31 (&l
(C) 31
(D) 12

129. I 557% A1 (AT G {0 T Q1 (T 35 |
fas vl (IR @

(A) QD I 5 @ FER oI #ItS |
(B) (I T2t 5T & FITAT AN TS |
(C) @b THTSIR AT TS |

(D) @mfe g 1w Irgre 73 A |

130. REM #AEAR’ §el R 231 &) IR 30
LY

(A) @I
(B) ARTEIA
(C) TATAM
(D) fifere=

131. DI @ AR FRGIEER oAfF Q@
QTS ¢

(A) XS

(B) HITAAN Fi@o
(C) *Bif<rrs WZE6
(D) ST T
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132, TG ©lsf R T
(A) 4 ez
(B) u-Rfeas
(C) Ty ffez=
(D) T Al

133. YR TAERT M SfOEta U
(A) NHAFIR SRS SHE G |

(B) TS A HIET WCE LS AN |

(C) IR ARBENIETS T (AL ALTHAE
TIE TR T |

(D) T O SHZTEI G [H5fT A2 A
&) |

134. (SN IHF T3 (61 T TE
(A) oI5 (Erzel) v
(B) @it (e a1 =ife) &=
(C) == (STel) T
(D) @@

135. wERRIE =&

(A) 9% I T @ e RiFad T

(B) T (V= i3S WA SIS @ AT
A |

(C) *[FrEI S 93 LA (A [FY ST
I |

(D) 2 vIfafics @< IR A0S AR A
Y S |

136. <R RfFEffE 9 TR
(A) aiR {2 3w 8 AYI AT
(B) i3 g
(C) TR [ wiid
(D) TF eI AT @ A TACTS ZPT T

Please Turn Over
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137. Select the one having pH < 7.
AKT Lemon juice
(B) Lime water
(C) Human blood
(D) Antacid

138. To protect tooth decay we are advised to
brush our teeth regularly. The nature of the
toothpaste commonly used is |

(A) acidic
(B) neutral
4CT basic

(D) corrosive

139. Whichone among the following is the main
ingradient in cement?

(A) Gypsum

_B) Limestone

(C) Clay

(D) Ash

140. Brass is a mixture of
(A)~Copper & Zinc
(B) Copper & Tin
(C) Copper, Nickel & Zinc
(D) Copper, Aluminium & Mg

141. The percentage increase in the surface area
of a cube when each side doubled is

(A) 25%
(B) 50%
(C) 150%
#(UﬁOO%

142. Find the LCM of %, %and % :
(A) 20
’(B)*Z-#
©) —
24
(D) —
20

143. If 12427 43% ..., 0=

6

find the value of 5+ 6" + 7" + ........ +10°.
(A) 330
(B) 345
_(C)-355
(D) 360

144. Two cars, passing each other at high speed,
are in danger of side swiping because

(A) of the increasing in air pressure tn the
space between them.

(B) of decrease in the velocity of air
molecules between them.

(C)~ofdecrease inair pressure in the space
between them.

(D) of the increase in the velocity of air
molecules between them.

145. The food that gives more calories per unit
mass of food is

(A) protein

(B) carbohydrates
(O)-fat

(D) water

146. ECG records
(A) rate of heart beats
A(B) potential difference
(C) ventricular concentration

(D) volume of blood pumped
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137. @A pH< 7 Gifb ==

4
(A) (3R T 142. 3, % UER %waa 1.0
(B) p & . (A) 20
(C) TE 7 (B) 24
(D) SRS (GO1PTS) 1
©) 57
(D) 35
138. WICeR FIRERHIA &) Mg fafis e
W& THTH (ST T | (T e IR I3 W ©IF |
sl ?E)ﬁ”“a 143, TR 1242 +3%+ ... 4= ”(5-“2(3” )
(B) f@arers ([ege) LURAIC SO T s +102-\Q§“‘ﬂ7{m
' (B) 345
(D) =TI (IWS) (©) 355
(D) 360
139, S5a @G FTsa 5 Soimm e 144, 775 =1, Twaifers qre GoRE wfea= TR
(A) fropm CIHA Aot 5erd et 93 TR
(B) FIofI2F (A) ST TR ST IR BIA (AT AT
(C) =% (B) Tt WR SAFS ITFIR R I
(D) &} o
(C) IR TR ST YA B9 I I8 |
(D) SItid TR SRS AT [ (T
e |
140. f#ee oA e ¢
(A) I @ Wl 145. =fs g3 T QM IEAR @6 67 @ A
(B) <=1 @ B VY
(C) <1, [ree 8 vl (A) ceiios
(D) @I, SR @ BN (B) SFIAMRIGD
(C) b
(D) &=

141. R W3 afel 49 faeq 4, CFaT 146. ECG s 33

W ?A) ;T:%ﬁ (A) ZOID (TF™™A) 99 TH
(B) 50% (B) fZea #1407
(C) 150% (C) (ST TT%

(D) 300% (D) “r= QI ICFI TTEH

Please Turn Over
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147. Bio gas consists of
(A) Carbon monoxide, Methane and

Hydrogen

}Bf)/C_arbon dioxide, Methane and
Hydrogen

(C) Carbon monoxide, Ethane and
Hydrogen

(D) Carbon dioxide, Ethane and Hydrogen

148. Noise pollution is created if noise is in
excess 1o

(A) 70-75 dB
(B) 50-60 dB
(€)"80-99 dB
(D) 40-65 dB

149. If persons addicted to alcohol, the liver gets
damaged because it

(A) has to detoxify the alcohol.
(B) stores excess of glycon.

LGﬁ"i?ovcr stimulated to secrete more
bile.

(D) accumulates excess of fats.

150. At magnetic poles, the angle of dip 1s
(A) 45°
(B) 30°
(C) Zero
(D)-90°
e

151. The Constitution Bill (123rd Amendment),
2017 deals with

(A) empowers National Commission on
Backward Classes

(B) empowers National Council for
Backward Classes

(C) empowers National Council for
Schedule Castes

(D) empowers National Commission for
Schedule Castes
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152. Which section of the Indian Penal Code
deals with adultery? |

AA) 496
(B) 497
(C) 498
(D) 499

153. Who won the Academy Award for Actorin
a Leading Rolec in 20187

(A) Sam Rockwell
B) Lee Smith

(C) Alexandre Desplat
(D) Richard King

154. Who won the Pulitzer Prize for Literature
in 20187
AA&Y Andrew Sean Greer
(B) Jhumpa Lahin
(C) Arvind Adiga
(D) Hernan Diaz

155. What is the venue of the forthcoming G 20
Summit?

(A) Osaka

(B) Oklahoma

(C) Orleans

(D) Oslo

156. Executive powerof the state 1s bestowed on
the Governor by which article of the Indian
Constitution?

-(A) Article 156
(B)_‘ _Arlicle 155
‘,«;(e‘)‘ “Article 154
(D) Article 153

@C;ls-gﬁ‘.in



147. AEHER Coimiaai=
(A) IR TAFZS, fitas ¢ ARGl
(B) JI4 ©iR s3ize, firem @ g3gie
(C) TR AIHIZT, Z2AW @ RIS
(D) I TR SHIZG, A7 € YRCIEH

148. *30739 27, ¥t (CslieT=ie) st afw caf<t =3
(A) 70-75 dB-93
(B) 50-60 dB-a3
(C) 80-99 dB-43
(D) 40-65 dB-93

149. (¥ JfET WAL Qe G fFrerd
ooy T¥ A @b

(A) SHETRIRETA SHAMA SIS 307 |
(B) 3RS AR ALY A |

(C) QM THifsre T TP (A Q@R AIDS
¥ fAsfe =)

(D) @M T FLT I |

150. G [RAfe @—
(A) 45°
(B) 30°

(C) I
(D) 90°

151. 123 O HR4R A4 R RasEea
> AR ?
(A) T I o FPSANE FIETH-9
A
(B) T*AIE FICEE T JFRPSTE FIGT-
GG FAOIA
(C) AT I Ta Mo F67-9g
TFOA
(D) A IR TF Mioes F5H-9T
O
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152. ool weflifta @M u=m ifesa A
R SrErd AR ?
(A) 496
(B) 497
(C) 498
(D) 499

153. 2018-3 &4 b0 SSA@E &) (i Sl
QI AHT 2/ 2
(A) 7% TFCTH
(B) = 7l
(C) SIETIHITCIA (Fo2lfTS
(D) fa5rs fa

154. 2018 A= AECey “jFresa «7=R iEw
(I AR 2
(A) TS = formig
(B) 3= =TifZel
(C) Hafe™ «fosit
(D) zF= fCare

155. sttt &7 20 AfG @am swire =@
(A) €A
(B) SF=ics
(C) ST
(D) @HA

156, RYET (I 4T AHARTE T2

SN Fel (ST AR 2
(A) 156 -
(B) 155
(C) 154

. (D) 153

in
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157. Who is the author of Flood of Fire?
(A) Amit Mitra
(B) Amit Chaudhury

O(er’ﬁmitava Ghosh
(D) Atul K Thakur

158. Who is the newly appointed Goodwill
Ambassador of UNICEF?

AT Millie Bobby Brown
(B) Dominique Lapierre
(C) Deepika Padukone
(D) Salma Hayek

159. Who is the Indian Ambassador to China?
(A) Vijay Gokhale
(BY Vikram Misri
(C) Vyay Aurora
(D) Ramendra Singh

160. Who is the President of IMF?
(A) Horst Kohler |
(B) Rodngo Rato

(C) Dominique Strauss
D) Christine Lagarde

161. Who is the President of Maldives?
,,.(AT Ibrahim Mohamed Solih
(B) Ibrahim Nasir
(C) Mohamed Nasheed
(D) Abdulla Yameen

@
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162. Who was the Prime Minister of Israel
during the Munich Massacre?

AA) Golda Meir
(B) David Ben-Gurion
(C) Levi Eshkol
(D) Shimon Peres

163. Who is the Secretary of State of U.S.A. in
January 2019?

*_,(A) Mike Pompeo
(B) Rex Tillerson
(C) Hillary Rodham Clinton
(D) Warren Christopher

164. Who will continue as the Emperor of Japan
till Apnl 2019?
(A) Mutsuhito
_(By Akihito
(C) Hirohito
(D) Michiko

165. Who is the President of South Korea?
/(A)’ﬂfoon Jae-in
(B) Lee Jae-myung
(C) Ban Ki Moon
(D) Ahn Cheol-soo

166. Who was Sikkim's last sovereign king?
(A) Phuntsog Namgyal
(B) Tensung Namgyal
(C) Tashi Namgyal

... B Palden Namgyal

C"P‘ﬁ.in



157. ‘TS 9@ FIA’ 20 9 E4?

(A) fs g

(B) fse By
(C) Gfers ay
(D) & (3 31T -

158. UNICEF-93-33& Goodwill Ambassador

&2
(A) fafs 2f s
(B) Tfifa< oy
(C)- RifoT AT
(D) ¥ QU

159. for IETF SRTSA AGTS (2

(A) TR (st
(B) Az fd)
(C) faem sz
(D) ITH ez

160. T2 OF GT~93 S (& ?

(A) T (I
(B) FefATsn e
(C) cfufas 3res
(D) % &g

161, ST AGATER T F 2
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162. fEHY S9N AN ISACACET JUEIZ (@
Gk

(A) C5Fe! (T
(B) Cefes (@@-afaas
(C) GfS @z
(D) F= ¢oitae

163. I€IH SIS TEINF 720G AdA (=2
(A) TZE AT
(B) &% foarz==

(C) fe=nfa camora %
(D) TR f&oTg

164. 201993 af2F o7 S A FT0 LUIE 2

165. w4 fzar agsfex am e
(A) T4 (5 &
(B) fa & e
(C) IN {& A
(D) =S ('es 7

166. MR o1 18R =S (& ¢
(A) FOAS FFSAA
(B) (% SCoRE
(C) i SrITariet

@&HA. (D) =AM ST
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167. When did President Trump sign ‘Asia

Reassurance Initiative Act’ into law?
(A) 31 December 2018
(B) 31 October 2018
(C) 31 July 2018
(D) 31 August 2018

168. Where is Vansda National Park Located?
(A) Uttar Pradesh
_(B) Gujarat
(C) Rajasthan
(D) Madhya Pradesh

169. What is the currency of Iran?
.(A) Tranian Rial
(B) Iranian Rubel
(C) Iranian Diner
(D) Iranian Dollar

170. Which date is marked as the World Day for
War Orphans?

(A) January 3
(B) January 4
(C) January 5
(D)~January 6

171. Who was the dissenting Judge in the Apex
Court’s Sabarimala verdict?

(A) Justice Indira Banerjee
(B) Justice Nariman

(C) Justice Khanwilkar
__(_I/))/Justice Indu Malhotra

C-34

172. Who is the Leader of AIMIM?
(A) Julfikar Al
MSaduddin Owaisi
(C) Oyesuddin Siddiki
(D) Dinkar Rai

173. Which province of India is the first to have
complete organic farming?

(A) Mizoram

(B) Tripura

(C) Arunachal Pradesh
(D)--Sikkim

o

174. Who among the following never became
the President of United States of America?

(A) Herbert Hoover
ABY Geraldin Ford
(C) Calvin Coolidge
(D) James Buchanan

175. Who was honoured with 54th Jnanpith
Award?

(A) Vikram Seth
(B) Anita Desai
(C) Kiran Desai
H(_D):'A'mitav Ghosh

176. Who founded the ‘All India Harijan Samaj’

in 19327

(A) C.R.Das
(B) Subhas Chandra Bose
(C) Jawahar Lal Nehru

cesna (DY M. K. Gandhi
CoA Min ¢

AN
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167. (AFTEB R ‘afia frar 2kwie 172. G0a T (F Q.39 2. 9597 (TS ?

E-(F TP IR NS SAFTS I 2 (A) GfTaa SifE
(A) 310 T3 2018 (B) SIS ST
- (B) 310 =314 2018 (C) ST Fif
(C) 31(% =i 2018 (D) frrm a3

(D) 31¢% S50 2018

173. SRS (e AT 7)< (& AwGTS G 2T ?

168. 3wl GhS|T BWI (AT SA(FS ? (A) e
(A) TG (B) fa=i=
(B) ©Swa® (C) ST
(C) AreZ (D) Ffe
(D) Wy

174. da 4 (@ FE! A T&A1083 gt

169. 2 41 2 | e
(A) 23 faaie (A) I ZoIF
(B) 23 (e | (B) Rriftsw oo
(C) Z3f g (C) @fFen Ffere

(D) ZAf Ty (D) (o 57

170. World Day for War Orphans ¥ #IFreza? | 175, S4%% WA =F0[ (AT (o Ao

(A) 33 SIS (A) & x5

(B) 43! T (B) iferel o713
(C) 5% Giegaidl | (C) T2 omif%
(D) 62 T (D) SIfsrere @

171. 2N @03 FREANE I @ [oreife 176. 1932 A= @ 2w e e 2Afowl

forme (oftael eqeee IRRER &2
(A) Rerefs 3@ e | (A) . =2, v
(B) =zeife ifasia (B) o 5% I
(C) fRoasifs AT (C) GEIEH ToF

(D) RIS 37 sierza @C‘»’H“ﬁ (D) Q. &. N
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177. Who is the founder of the Ghadar Party? 182. At which session of the Indian National
(A) Lala Lajpat Rai Congress was ‘Vande Mataram’ sung for the first
.+(B) Lala Hardayal time?
(C) Bhagat Singh (A) 1920 session
(D) Kunwar Singh (B) 1906 session

| _(C) 1896 scssion
(D) 1922 session

178. Where was the Provisional Government of
Independent India (Azad Hind) formed?

s 183. When was the Non-cooperation movement
«-(A) Singapore

suspended?
(B) Tokyo (A) 1918
(C) Berlin (B) 1920
(D) Rome '(9},_,1-922
(D) 1924
179. The famous INA trials took place at the Red
Fort, Delhi in 184. The first session of the Indian National
,(;A‘j/l945 Congress was presided over by |
(B) 1946 (A) Surendra Nath Bancrjee
(C) 1947 - (B) Womesh Chander Banerjee
(D) 1948 (C) Aurobindo Ghosh

(D) Bipin Chandra Pal

180. Where did the congress working committee .
first accept the idea of Quit India Movement? 185. Who set up the Indian Independence

League?
(AyWardha

~(A) Rash Biharn Bose
(2) Eerams (B) Subhas Chandra Bosc
(C) Calcutta (C) Mahatma Gandhi

¢ () Delin (D) Jawaharlal Nehru
181. Which leader died on the day the Non- 186. The provision for secparate electorate for
cooperation movement was launched in 19207 Hindus and Muslims was made in
,{fAﬁal Gangadhar Tilak (A) Government of India Act, 1935
(B) Lala Lajpat Rai (B) Montague Cheimsford reforms
(C) P. Sita Ramayya - (C) Minto-Morley reforms

(D) C. Rajagopalachari " (D) Mountbatten Plan
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177. w3 41t afss srafeEm &7
(A) FIETl TTE2S A3

182, ST TR AT (I ST LI
U A shAlD shen 292

(B) =il 2awdle (A) 1920 Hi&T3=
(C) ®sie 7 (B) 1906 Sf&T=™I7

(D) F=eTA e (C) 1896 w4+
(D) 1922 Sigra=ia

178. SEIa we 7w waas @y sifve gafea ¢ '
183. RIS SICAIEH (P FC AN SN 9

(A) BrIsa-9 |
(B) (Gifere-¢o S e
(A) 1918
(C) - (B) 1920
(D) @5-9 (C) 1922
(D) 1924

179. 2, . «.-7 e [Aerg-ae Mala s

S A P 2R ? ' | 184, SRTSH G AT 22 AT TS
(A) 1945 f=lem =2
(B) 1946 (A) FJRAEL ICHINGE
(C) 1947 (B) TG v e
(D) 1948 (C) A (q1F

(D) fafew o =i

180. = <qIfFe < @ T T9e 7T

SITHICTS 2T 23 H=e P 2 185. 3G 3afrrE™ ais’— & afewt FEm e
(A) e (A) IR 37
(B) T (B) 7o 5% 5
(C) FHIIel (C) TN Sil
(D) frel (D) TR (FTF

181. 1920 ATeT SRS ST F A7 A 186. &9 @ THEWHER 727 FEvTwesace

(@ (FOIF T T ? ﬁmﬁWﬁWmmﬂwmmwmﬁﬁ?
(A) I TGS foa (A) STSHGrG oI 2fedl Sig, 1935
(B) &=l sTiEoe A2 (B) WCo (GRS e
(C) f21. Freorarazal (C) Frb-aE i
(D) 1. et | (D) WSTAGA A
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187. In which session did the Indian National
Congress declare Poorna Swaraj (Complete
Independence) to be its goal?

.../(A) Lahore, 1929
(B) Lucknow, 1916
(C) Trnpun, 1939
(D) Bombay, 1940

188. Which important event immediately
preceded the Jullianwala Bagh massacre?

(A) Communal Award
(B) Arrival of Simon Commission
(C) Non-cooperation movement

) i({D) Rowlatt Act enactment

189. The famous Pakistanresolution was passed

at
-(ﬁr Lahore
(B) Delhi
(C) Bombay
(D) Lucknow

190. Which Act was known as ‘Black-Bill’?
{AY Rowlatt Act
(B) Pitt’s India Act
(C) The Regulating Act
(D) Indian Council Act

191. Who once remarked — ‘Nehru is a patriot
while Jinnah is a politician.’?
(A) Maulana Azad
(B) Mahatma Gandhi
{C)/Sir Mohammad Igbal
(D) Abdul Gaffar Khan

192. The Khilafat movement was started by
(A) Muhammad Ali Jinnah
(B) Dr. Zakir Hussain
(C) Fakruddin Ali Ahmed
.(D)/zﬁ Brothers

193. Who said — ‘The Simon Commission
Report should be thrown on a heap of rubbish’?

(A) M. K. Gandhi

/(ﬁlivaswami Ayyar
(C) Mahammad Ali Jinnah
(D) Jawaharlal Nehru

194. Whichday wasdeclared asthe Direct Action
Day by the Muslim League?

(A) 3rd September, 1946
.(B)"16th August, 1946
(C) 16th May, 1946

(D) 4th December, 1946

195. 6th April, 1930is well known in the history
of India because this date is associated with

/(A)"’Dandi March by Mahatma
(B) Quit India Movement
(C) Partition of Bengal
(D) Partition of India

196. Which battle established the supremacy of
the British rule in India?

(A) Battle of Plassey, 1757
,.(B)/B,:.ittlc of Buxar, 1764

(C) 3rd Mysore War, 1790-92

(D) 4th Mysore War, 1799

P S HA

@Cw.in



C-39

AC/19
187. ©ICed T TP @I W sjef 192. I IR (TO0F RATS Sirietsy ©F 337 2
RS SN 2T 0 (T FRE 2 (A) % w1 Ry
(A) IR, 1929 (B) Wl. &ifea o=
(B) =CH, 1916 | (C) Teim wife iz
(C) @i, 1939 (D) w3 SR
(D) GIIH, 1940

193. AR It ST SR gl st
188. EeTHRCTFRINTGRISISRRE A @ | T S0 7 — &R 3 (& Jeeiferem »

G ERTIR T ET R, (A) 99, &, MR
(A) YA SETE (B) M=t s
(B) HARS SRR o (C) wzm wife fer
(C) SRS HITHIET (D) SRIF F=F

(D) Rowlatt S2A &g+

194. 3 freics spife Aot ‘erer eam fresr’ 2

189. Re AT mmﬁrm oA 2F 7 RN e
(A) 3 (Uo09T, 1946

A ' B) 16 =175, 1946

®) e S o

(C) @I *

D) =TH (D) 4 57193, 1946

195. 1930#1@ 63 Wfsier ST 3oz [Reds

190. (I SZAE ‘Black-Bill’ 357 76 ?

TSI, I 93 =i TiFe —

(A) Rowlatt S3-(F (A) TR IS SfeT-97 7%

(B) Pitt 3 WIE-T (B) ‘SRS-TS WIHIAFI 7R
(C) T TR B3 (C) ‘Tr-ReIo-a3 5=
(D) ST FCHE ShE-F

(D) ©IFS [e’-93 7

191. ‘zF 93T« (wedfiE, fom gsew 196. 1 @ 3y T ©1ace B= =vwa 1w
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197. Kuka movement is associated with which 199. The Rowlatt Act was passed in the year
of the following states? (A) 1917
(A) Assam _(B)71919
(B) Bengal (C) 1921
_(G)" Punjab (D) 1923

(D) Mabharashtra

200. Which of the following movements

198. The idea of Pakistan was first conceived by immediately followed the partition of Bengal?
&) Muhammad Igbal (A) Non-cooperation movement
(B) M.A. Jinnah __,;(:B)""’S’{vadeshi movement
(C) Shaukar Ali (C) Civil disobedience movement
(D) Aga khan (D) Ghadar movement

P ESHA
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197. T STHIEW (I AT ACK TIPS ? 199, Rowlatt Sz @ e 29 242
(A) SN (A) 1917
(B) A (B) 1919
(C) g (C) 1921
(D) TAZ ) 1955

200. FsfeRe irvrmefm T @ S

198. AIRFTH-97 Y16l YT (& NI ? ARSI SRS A 7R49ATS 2Rz 2
(A) TZW 333 (A) SIS A
(B) «9w.«.f&m (B) F0P N AT
(C) GiIFx wifed (C) 2R SN+ SITHIeT

(D) N5 A= (D) S STwlEs






